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‘ | The passive of “Who teaches you English 7 ™ is :
!.@' By whom you are taught English.
\ﬂ?f By whom English is taught to y
(¢) Who taught you English. Q ¢

(d) Whom do you teach is

\/( The indirect narrati l% id to me, do you know me ?”
\(# He asked & r [ knew him.

know him.

me that if [ knew him.
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@ The antonym of the word ‘Sapient’ is

..........

W Wise [ synonym \ :
Foolish
(¢) Wasteful

(d) Safe

9 The correct synonym of the word ‘Forestall’ is ..........
(a) Avoid

u@ﬂ Frighten K both o €¢ ! 0 lll
(¥ Prevent (EMLLQ be deld@ !\i
\X

(d) Disappoint 6 ® %q

\% Fill in the blank with the correct preposition < i E

She came ... the library.
(a) in into v
(c) at (d) none of the above

&hich completes the given statement and change

\,9./ Choose the correct a
it into indirect naggbic

The teacher  “May you pass”. , r
*g;{j Moo wanted me that I might pass. |

e Yeacher told me that I might pass. L
I

he teacher wished me that [ might pass.

sed.

' ' as
(d) The teacher wished me that [ might have p
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DO qfx]

Section-11
‘}6’? Asteroids are found between the orbits of :
\M’ Mars and Jupiter
(b) Earth and Mars
(¢) Earth and Venus

(d) Jupiter and Saturn

«7.  Which of the following statement is not true ? go
(a) Friction can be reduced by converting sliding frict o rolling friction.

®
(b) Friction in air and water can be refu@streamlining the shape of

the object.
(c) A polished surface will hav%;ion.
\,(d’)/ Friction can be red t :

@ The planet whi & Bast time to revolve around the Sun is :
\ud) Mer (b) Uranus .
V3 Z) (d) Neptune

e Wéight of an object will be zero at

The surface of the earth S
> .

\M The centre of the earth

\@0/ At 100 km above the surface of the earth

(d) At 100 km below the surface of the earth
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\ 4 High Reactivity
(¢) Softness o

Which of the following is a weedicide ?

(a) Urea \_M 2,4-D

(¢) Cowdung (d) NPK

Sodium and Potassium are stored in Kerosene due to their

(a) Low Reactivity

(d) Low Melting point O

Growth hormone is secreted b

(a) Thyroid ‘b
My~ Pituitary \&'

(c) Adre

ra@

irhum audible frequency for human ear is

(a) 200 Hz
(b) 2000 Hz

(c) 20,000 Hz

W 20 Hz
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34, Non-metals react with oxygen to form
Yy Acidic oxide or Neutral oxide
\M Basic oxide

(¢)  Amphoteric oxide

(d) None of the given

@ Which of the following occurs during lightening ?

\m Acid rain ‘ ‘
(b) Green house effect 6 &
>(é) Nitrogen fixation

(d) Smog

_36.  The pores in the bread jddue s bubbles of

(a) Oxygen \ (b) Nitrogen
Cart%Q (d) Nitrogen dioxide

a7 ca¥ by which dead remains of plants and animals are decomposed into

1tr is called
Desertification
(b) Deamination
M Nitrification
(d) Amination

NNHQ

— T

- i A e i Mg
a1 T S _.M- g "

\ '\‘ - . S
S T | >
|

[P.T.O.

=
-~

% %

_a\\
\‘.\

R R . ¢

YV
AN

A\ &

® '

.




Jﬁ. The most reactive metal 18

(a) Copper

. R ey o
EDEN e S

(b) Silver

M Potassium

(d) Calcium

39, The burning of LPG is an example of 0
Wf rapid combustion o

. ®
(b) explosion 6
(c) slow combustion
(d) none of the given ( bQ

\ﬂf). Friction due to flui Bgdlled
(a) force @
(b) urg
on '
drag
NNHQ L
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ldenufy the substance which is tough, porous and black. It is almost
' st @ pure

form of carbon
@) Crude oil (b) Coal tar
) Coal gas M Coke

& The i raca | . . . .
N ¢ Increase in concentration of which gas is not responsible forgidoba

Warming ?

\a__;fT‘ Nitrogen

\_ﬁ( Methane < }
(¢) Carbon dioxide » 6 ®

(d) Sulphur dioxide

A3 Which of the following techniq%u ion should be used to save water ?
(a) Canal irrigation 7(\)

{C } on
el
s aking cakes, yeast multiplies rapidly and produces............ gas.
a) Hydrogen (b)  Nitrogen
(c) Oxygen \Jé’f' Carbon dioxide
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; cnction willy alr
R Which of the following metals cateh fe oni

() Magnesim
l »
v Sodium
(©)  Calcum

(@) Aluminium

J6.  Same kind of plants grown and cultivated on a large scale at 2

(a) weed O

\ W crop |
<

(c) herb :

(d) shrub QQ

\A’{ . Polymers are made up of alled

(a) layers & ’

(b) molecu

(C) . S

ich gas is evolved when magnesium reacts with dilute hydrochlorie acid ©
(a) Carbon dioxide (b)  Nitrogen

(c) Oxygen \_M’T/ Hydrogen
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&9( The lowest temperature at which a substance catches fire is called its '

(a) absolute temperatyre

(b) critical temperature

DU S S S

(c) super temperature

\(;l«)/ ignition temperature

$0.  External fertilization is not found in O I
W# Hen (b) Fish O i

# N \

(¢) Frog /ﬁ

(d) sh
@’ ;P,,,/é
S 2 4
& &
9

s called

¥{.  Which of the following statement is not

(a) friction acts on both the s

J85 9
2
\ ] static friction is lesgffan friction C}D%ﬁa T 3 %G% ] i_é_..(f}-;)——

. 259
(c) rolling fncn@&) n sliding friction i:bﬁg{% \Egg@ﬂ

(d) fricti reduced ‘ A %\ e
@ \ \ 49173
2. Th%&d to test the charge on an object is : 25 “\\*Lﬁ( 4o A6

e T
tning conductor &g '\L \ < {%_L X
GNP \ 7\%
) galvanometer 4 . :
L B
(c) ammeter \D <
% \/Q,
\_Ld{ electroscope %0
13 [P.T.0.
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S T'he impression of an image persists on the retina for about :

1 \th
\yf/ [Tg) of a second

R
2
=

25 e N

of a second

of a second c 0
: ‘\M‘

34.  The junction of optic nerves and the retina i e 1? called :

(a) yellow spot

: (b) choroid 2 Q

:
‘_ uej/ blind spot

(@ pupil }\)

3 _%5. Which a@h following is responsible for acid rain ?

NO; and SO,

(d) SO3 and N03

HNHO 14
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@ Find the compoun o
d int .
18 months at 12 50, pe:re'o‘t Which Rozy will get on Rs. 4096, if she A 3
annum, interest hein , N )
g compounded half year] )
(a) Rs. 800 - '
%
" Gy Rs.817 b [‘*%’% J s
X Rs.813 >
(d) Rs.823 -;;FM,-S |
2
0@0 Find the value of (52
T o
V% ((mabz) * (212" fora=1 and b= 7. 10%)
(a) l30—7- _~=———f;£ ¢ deleted) o
5 o
{S’»(\']X [-lox 1 x4 . },7)
109
B s ¥[=%] x5 -
e 7 ogr =
s . o (95
32 S
<o = \ Al
o2 €75 Plox \ X XTI X%
105 -G 0 -0\ = <28

— '}L.-———- gt
. If 15 added to the squaN ber is 6 less than the square of its successor. 3

Then, the number Q &+ - o e |

(a) 6 @ \/gﬂ/ 0 \5“-(;'% _ :\1\:\1. .,

(©) 0 (d 8 gy =¥ |

\.
\63; Qﬂtam 5 red, 8 black and 7 white balls. One ball is chosen at random,
‘& chosen ball is not black is : < Re ’) : i

robability that the
p ® : bw |
(@ 3 ’ % v 4 y e 5
L w7 5
\M/ 3 @ 3 28
5 [P.T.O.
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b6 The value of 16x* — 24xy + 9y, when x = -A- and y = Ii 18 5 ;\ :
s I WL Az

-2 (b) I 46 y

AR o

) 1 i 0 | = B %

\,66 . The area of a trapezium is 28 sq cm and one of 1ts parallel sides 15 5

&t&\i‘\""\ distance between the parallel sides is 4 cm, then the other parallel

L Y %
_3—-}/’ a (a) 8cm b) 7em - A 3
. 2
= é\ + ? 2% - =2

- )c\n"' 5
‘¢ ic) 9 cm T 6em
YR =
® t‘" =6
a hall of dimension

68. How many persons can be accomgfodat
20m=16m=4.5m, assuming that cac S ires 4m’ of air ? 9[ E
ke 360

(b 320
y (c) 310 d) 240 . .
e 1Goo
4 & 260 1230
g , (pm-l-u )3 " (pn-fl)j X (ﬂmﬂl)j .
\>@/ The value §£xprgsdion, ( : 1s equal to

Pl x ph X p!)‘

. N
- ) {Pm*h“\‘ Ph*_l & PM#J }
p(.zm+zn+20 2 [‘Pm+n 1+ ]-?-—{__.___h__

i %{ S P"(‘*h & ?((. 4! o P+4 \)/

| @ —o e E

@ 13 :
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 PARTICULEL CpnpiATh
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! (g e Y
ra#-’ind‘.ﬁam .
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0. Whi ‘ 2
A ich one of the following is a true statement ? —
i
l!sl j‘i‘
(a) Oisth ition i i \
$ the addition identity for natural number

(b)  Every rational number has its reciprocal

(A€ o] A
{bo-% Oye rql%_gqo{_l{j e

, 4al
vkeT” Integers are closed for subtraction Ej\j WM e \ J(eCl] ;

(d) Real numbers are closed for division §::
7  The value of o

\
,d
[ 1 B 1 M 1 _ +’_._i_——] 1S |'
N NN RN - R @g 5) 5 ;
S |
(q + I& & )
(a) O ' )
a +2 ﬂ//—')@ A ko Jld
, 53! 4
(s ) 3 (a4
& %
gl i interest = 10% compounded half-yearly, then )
\7J. If principal =R 0, Wte of interest = 10 &
P=\0D goO 3 2|

amount aft o1 :

p-— 5 \D./' o 0 ?}O =

w0 T = 6o \ L
® 0 o) ]
3 195000 i = [\er}ﬂm CQ‘ eﬁdeo' 01/[,!953,?
2L
70 Q’P
;-

205000 grab

(d) 95000

19
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NS TRUCTIO

JA. The digits of a two-digit number differ by 3. If the digits are interchanged, and
the resulting number is added to the original number, we get 143. What is the

._bo)

original number ?

(a) 36 (b) 76

\(y 85 (d 89

\74.  The value of (Jlgzzs + /182.25 + /1.8225 + 0.018 Q
(a) 1.49985 0) 14985 o RQPQQ}Q&WJ

ey 149.985 (d)@ :

The height of two right cm:ul e same. Their volumes are 16wm’
and 18m’ respectlvely Th 1r base radii 1s
n=\
9:4
2 (c) 16:81 @ 2:3
\]6_ Qﬂowmg relationship is named as Euler’s formula :

=V+2

‘b AP (ﬁ{@?eo&?c’ 0\/89;)

Je&f F+V=E+2

(d) F+V=E-2

20
NNHQ




R ———— S - s I
RS i S My SR : \"‘\‘ \ RouW N ) .-35

Lian N\lmbi_‘__#, P

7. Find the smallest number by which the number 2401 must be divided 1 btain X

a perfect cube : -
~ "> A

o) b
(a) 8 % i
(b) 4 % N

27. What is two digit number ?

(a) 63

N1
(c) 45 b@ x

@' Which is having the largest valuegd 243, 5'° and 4°%

PR S

r‘ ™~ — \
?'f’cjj L z-
Q 1 (L.ﬁ—
\
a? +ab+b* . e
L = s
90 Ifa= Y b= 2 — 1, then the value of ——" =5 %
. e \ﬁ#\] "
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8 men can do a piece of work in 10 days. How long will 10 men take to
complete the same work ? g\ _,.% \0
(a) 12 days o S5 N
\jﬂ/ 8 days 1\%.2 =Y™
(c) 7days \@)_i
(d) 6days
The polynomial 2x° — 5x% + mx + n is divisible by x> — 4, iQQ

(@) (m,n)=(2,3)

7 (m, n)=(8,-20)

(¢) (m,n)=(-8,20) - : /

B T &% LMt =0

REANRAT
A s —56 MR
- - - 43
G 18 Q) a‘:"’*sxag*%yb
oleleted <
‘b 2a-13 \6#92._
57 d‘:u{ )( &§+8
o %
GV a3

22
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84 The dimensions of a room are 10m x 8m x 6m. The cost of white washing the

4 walls of the room at rate of Rs. 15 per m’ is : \éi
)]
(a) Rs.2300 560 o (L4b] ¥ 3o
s 2(3 o] %6 ,9_6%_,
(b) RS.7200 q’%oo rL‘?(gO“AE)

\)K(Rs_3240 % o6 O 96 ©
(d) Rs.5240 — K KR ¥

5. Two identical cubes, each of total surface area 54 cm \gI€ jgined end to end.

What will be the total surface area of the figure rmes?
(a) 54 om’ , Qf_ st
el B
(b) 108 co’ Q g
\,(25/9-0 cm’ ‘b . : 3

d) 180 cm’ \&' s ¥

@ 5 (Ababhtih)
Q) P RAS 8 )

e

~ @ 0 %g
AL ARSI S T

S8 X6 oy 92O

‘b \%G\A\gﬁ ODQ,A( "\ %64,0
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Section - |

N - S— very little when there are strangers present.

(a) had always spoken
(b) was always speaking

(c) is always speaking

\gdf always speaks 0
4 Choose the most appropriate article to fill in the bla@

[wanttobe ................... M.P. 6 ®
(@) the ol

S
<D
() no article \

ji\ The synonyylof t rd ‘coward’ is :

AU 2
\w 1an
ken
(F stalwart ‘
‘b @‘}« hero
HNNX )




z/g [f he wants to win the race, he’ll have to push ........... five people.
wants

(a) around

@) in 0

*5(‘ ............... differences on matters of principles, thengree on the

9- demand of hike in salary. ¢ |
(a) Despite of their O ;
(b) Despite off their Q g
Wy~ Despite for ‘b '
b(ﬂ‘ﬁ/ Despi &
S ' h@ﬁc is correct ? | '1. '.

D

I haven’t read none of the letters.
6?9 I have read any of the letters.

‘b ) Idon’t have read any of the letters.

QM/ I haven’t read any of the letters. | :
HNNX 3

[P.T.O.




7/ Change the following sentence into Indirect speech ;

The (, ommander said, “Soldiers cease fire”,

W The Commander ordered the soldiers to cease fire.
(b) The Commander pleaded the soldiers to cease fire.

(¢) The Commander said that cease fire.

(d) The Commander exclaimed to cease fire. 0

8 If you had come to the theatre last ni ght you

.............. thCplay.
7. ®
(a) will enjoy
(b) had enjoyed
&) would have enjoyed ‘ b
(d) must have enjoy&

’)L The man as well agliis nd children ............... in the accident.

1s injured

HNNX 4
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...‘L.Jff{;:.(............:.rrl/f‘luf:Wlﬁ%u&-"-'f:);ﬂg’édl LI,

1904 (b) 1905 fay”
1903 (d) 1906 (c)

O

e Vot U RS W

& ol diys (b) .,J:;u. (a)
skt ey Y & ©

& sbr i) g

A @)

QQD (d) um/;)uc’f
& WG OB Uizl 3

Ay b ()
M (d) LE

HNNX 5 [P.T.O.
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(a) Udelel (h) ©1&d

Wer” ot (d)

3UhlL
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(a) FHETEHT arrelt

’ﬁmmﬁaﬁaﬂﬁueﬁm%?

(b) BT BIRPB

(d) 3ifermeor RS

(P.T.O.

HNNX



v ‘i@mﬁﬁﬁwﬁ@ﬁﬁgﬂﬁaﬁgﬁm
wefler porsd 217§ BIA-URRT 3 @ler-AT DR & ?

WA 3IUTT 3IETBIR (b) B IEBR

(c) =E S (d) 99 BicihbIZ




23

"

%

Section - 11

A large number of small objects present between Mars and Jupiter and

revolves round the sun :

(a) Comets ulff Asteroids

(¢) Meteors (d) Meteorites 0
Bakelite and Melamine are examples of : o

®
(a) Thermoplastics gioosetting plastics

(¢) Nylon

Which of the following § E&miﬁcial silk ?

M Nylon \ M Bﬂ

(c) Po@ (d) Taser Silk

oMeals are Galvanized by coating it with ..........

ayon

e N

e

Chromium (W Zinc
- —

‘b (¢) Aluminium (d) Magnesium

HNNX

9 [P.T.O.
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; ering 1 ity
30 Which part of eye controls the amount of light entering 1n10
L lris t. Cornea
¥4 Pupil ﬁﬁi Retina

WM. Which of the following forces is a contact force ?

(a) Force of gravity (b) Magney Q

W#  Force of friction (d) ElectroStuggg orce
L

(}Zf Splitting of white into its constitue cbmown as :
w dispersion ‘t (b) interference

(c) scattering \ (d) diffraction

L 33. Chloroﬂu@ (CFC’s) are used in :
M@emtom - (b)  Aerosol sprays
(c)Air conditioners el All the above




“@’ Which is not a blended fibre ?

(a) Polycot ?ohy\- ot (b) Cotswool
" Polyester ? (d) Terycot Tey + ot
\ 38" Which poisonous gas is formed as a result of incomplet 0 2
i Carbon monoxide ~ (b) Coal ga

(¢c) Carbon dioxide (d) @e?oxide

136. . The two objects rubbed agai ac

(a) will lose electr

(d)
Ci i :
A0 Citrus Canker ¥ Typhoid
w Measles ). Cholera
HNNX 1 [P.T.O.



' e - Hve 7
Which of the following chemicals is used as preservative

(a) Sodium Carbonate (b) Sodium Sulphate

(¢) Sodium bicarbonate M Sodium Benzoaté
Unit of inheritance in living organisms is :

¥ Nucleus ) NUCGO
u(ﬁ Chromosome ke Gene

‘SN
Which of the following organis gx atmospheric nitrogen ?
(a) Lactobacillus (b) Rhizopus
(c) PenicilliK b @) Rhizobium
A dis &us&

laria Dg Polio

d by a protozoan is :

Smallpox w Tuberculosis

R



2. Nuclear membrane is absent in :

#  Blue green algae cell (b) Animal cell

(c) Plant cell (d) Human cheek cell

° 'jL An endocrine gland which is attached to the brain is : 0
N @)

(¥ Adrenal ()" Thyrot
®
(c) Pituitary Pagkreas

\#.  The process of loosening of the s C

e Tilling

(b) Harvesting il

(c) Spraying x&b (d) Weeding |

) Tricellular

Wellular @ Unicellular

ThE best electrical conductor 1s :

‘b M Silver (b) Gold

¥ Copper

(d) Aluminium |

HNNX 13 [P.T.O.
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3  The main gas present in LPG is :

L |

(a) Methane w BIEEE_I}_B
(c) Hexane Ny Butane‘/

W8, The species which are at the verge of extinction :
(a) Endemic (b) Extinc 0
M Endangered (d) None (<8

' &
+ ¥  Children gain height during : Q

(a) Menarche Puberty

(c) Menopause & @d’) Adolescence !

30" The vo fo1s glsPrealled :

ice |
: |
&% (b) Mouth )

C) omach (d) Hea['t

e
AT

\ HNNX 14




@’ The water holding capacity is the highest in :

(a)  Sandy soil (b) Loamy soil

&1 Clayey soil (d) Black soil

O

\s3. The force acting on a unit area of a surface is calleo
o Pressure nergy
(¢) Power mnia
\5,3./ Loudness of sound is dn':tv::rml%O
(a) time period
(b) frequencywlﬁing ody
w ampl@ ibrating body
(d) r@o ibration per second
\&m produces -
‘b (a) Reflection of light
(c) Scattering of light

HNNX 15

\,(fbf Dispersion of light

(d) Refraction of light

[P.T.O.
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T

- : .. decomposed 1nto -
When electrolysis of water 18 carried out, water 15 d P

(a) oxygen gas (b) hydrogen gas
gen and carbon dioxide

O

W&~ both hydrogen and oxygen (d) oxy

gas

A line graph which is a whole unbroken line is calledf :

w#~ Linear Graph w Pie ®
«%J Histograph o (-

(b) Loss 12.5% o
—XIpGT

»\r%?g«g.s_s%.
QL P

SUA

find the loss or gain ce
® & S \cD—
V&7
Gain IQ B S\éﬂT [].

@



o ‘S}L In what time will Rs, 4400 become Rs. 4576 at 8% per annum mterest

compounded half yearly ?

3 years w 7 years
M 3 years (d) %years

. z.h S
1:2. The ratio of their radii is :
M V2:1 \(x) \/@
(&) V5:1 @
>
@ The simple interes &m sum for li years at 7% per annum
vy Lo
60 exceeds the e n¥Pfest on the same sum for 6 months at 10% per
.. n, . £
: 2
a annu .>0. The sum 1s :
500 ) Rs. 600
Rs. 700 - (d) Rs.800
F !
17 [P.T.O.

\

3 Two circular cylinders of equal volumes have their helghg ratio

, e ’1% O
@ 2 o 5 V

98

Lo/



B i L

e D
vl

7

ke

es, what is the number of

If a polyhédron has 6 vertices and 12 €dg
faces it has ? EaV = E’-\—’L
| b

(c) 12 F= 9

; : : glone
A and B working together can do a piece of work In 1

can do the same work in 20 days, then A alone can do i -

(oY 30days Jp @'
(c) 35 days @) days

A tap fills a tank in 6 ho ‘v; tap empties the full tank in

9 hours. How long w o T1ll the tank, if the tank is empty and

both the taps are o
" (a %) 14 hours
el

S ———

) 12 hc@
C)@V L 18 hours

An marked at Rs. 840 is sold for Rs. 714, The discount ¥ is
0 :

' 15%

HNNX

20%
) A i @) 25%

\ae

18

A

.



ber of

Th i
¢ algebrajc CXpression 3x + 2y +6 isa

(@) Monomjg]

M Trinomig]

(b) Binomial

(d) None of the above

+— \ = -—;%;2 |
1+—
vt ag

o O 1
1

g x_L-\_‘
29 0 : 149
i ©. 1o ) 5
: A
- in
nd \ﬁf The area of a rhomb dlagonals are of length 10 cm and 8.2 cm
1tt,,,%ﬂvz. 2%
‘h o)
(a) 820 (b) 82cm?
A@% | (d) 410 cm?
gl (% smallest number by which the number 392 must be niultiplied .
,obtain a perfect cube i . 2\ .92
| ”“ ‘% ’J, \9 €
(a) 9 , - +{b) 5

Wf, i o ) @3 \* 7
; 4 . 19
HNNX . [P.T.O.



— '-__'_“_H‘-m_.\--\‘__
2 J__.«-""'_,.-——_-_\'__ —"‘*\

' f/’;-/ S o g
The sum of 1 +3+5+ +?z.+“+13+15+17+1918:
n

—_—
@ 112 o 10

(c) 110 (d) 120

How many natural numbers lie between 25% and 262 ?

(@) 52 (b) 51 Q
(d) Nons@f

N
- Q.
What will be the side %f thg rhombus e Wiagbnals are 12 cm and
A prkle
16 cm long ? ng 6 ot |
S
(@) 15cm W 10cm
) 20cm \& (d) 18cm
5
3=

-3)=0.05(10f-9) is : B0
0.1 S = 60.S0f—0 .C})gl-s '
—0.S0 =(.9S+03<

0. ©.50fF = a.26 (b)) 60
> £ = 0.38
&T)
| a:5 (d -06

.y t-[: - OOQSO“F ._:_{-0.—_'_3_"0.(‘_5

A 6.050F —
.’/6‘,‘}/’0’/ ‘Ff-"— - 0'?)0
o.gé &-{%
n f s e
b g ©
© JTo16.5
&o
T . o
——



Which of
\/’/ the followmg statement ig  true ?

‘ﬁﬁ Natur
al nu
mbers are closed under division

\M Inte
8Ers are closed under division

el Whole
n
s umbers are not closed under division

Qﬁ Rati
10nal numbers are closed under division 0
@ If Rs. 782 g
7( be divided into 3 parts, proportional to %, , then the

TR § P g
(a) Rs. 182 E”I}&/{ o &
- ' JASES (b) Rs. 190 y\ff‘% G
=
\ &S Rs. 196 Rs.204 O A¥E %‘?%%’7
=X qe e’ TR
';_ ) & __%\ i
A 8. e |
The value of (
& |
| 8l _» A by 2
[' 25 ; 25 4
(c}% @ =
° as
e
i
| =
% % e length of the diagonal of a square is 25 cm. Its area is : RE S ‘Q\de)
j gL
[. ol 625 cm? @ o S 312.5 cm? F ==X (2,5) 695
o R
F (© 652.5cm’ @ 3215 cn? e
)
4
¢ | HNNX ! [P.T0.



g |

J(=; f N f“
' all interior angles of an octagon 1s : b ‘(\ L\ 6
\A Sum of all intertor angles O : :

$ 00 (b) 720°
(©)  900° gt 1080°

‘?é Two coins are tossed randomly. Number of all possible outcome

(a) 0O

2

ié The compound interest on Rs. 16,000 for |
compounded half yearly. is :

of R

Rs. 2,500

J{é S "j:’l- o
(& Rs.2.532 LW () Rs2523 ,lc;“_
18~
"Qi 3“"” - B j%( %) - vx"+[a&b 4 ab
(—HX)[_ [q+b]tj*&

’HQ"\'((),fb ‘)}L' y —ab (h) y"-(a-b)y-ab
02 +b)y-ab W y' +t@-b)y-ab
\/84( ory polyhedron, Euler’s formula is :

‘b(a) E+V=E-2 QW) F+V-E=2

() F+E=V-2 (d) F-V+E=28

m— il 113 | I walt |1 e il -II i A
N2 T i AN L R .m:.m'?.mtmﬂ '



\/92‘/ The factors of 52 _ 2ab+p2 _¢2 .

(a) (a*b~0)(a+b+c) (b) (a-b+c)(a-b+c)
N] (a—b—c)(a&b+c) N5 (a+tb-c)(a-b-c)
1es 1S : —~7 3 96 90
B pkgnax (ST <0
4
@) 3

r annum .: ‘(g)" 35’.

go
2
G
3 EL‘:: 84, The difference of the largest angufhe Sgallest observation of any data is
t’f’fg ' called :
s |
2 | v(af Range & (b) Class-size
|
b ! (c) Mean \ (d) Median

- | 85 A cone%y nder have same height and same radius of their base.
ab The the cone will be : @
g @

a)W@ne fourth of volume of cylinder
One third of volume of cylinder

: ‘b (c) Halfof volume of cylinder

(d) Equal to the volume of cylinder
“ [P.T0.

HNNX




St (d) 26 (o) N  (a)/
o,,,fdg:.gg)i,tgéJ !
Az (d)  p010 (o) ft__g;du;m@ 192875\l

YL LI

e () 3kes (© QC,) ik (a)
c.../..../ﬁwldvl-lk

v (ﬁo/ & k7 (b) & 65 (a)
..c"_:l.k';‘f/:’b

5 (d) A0 gk (a)
L TUES e N0

> 4

=

,_tywm (c) Snbrduds OISR AR

AP (©)

L]
T TR B e




te (d) /¢ (o) ; /ﬂ-u (_b)._.,, _

11. Frefefem & 9 =9 @ = w8 22

(a) W et "
12. ‘s/@ER’ § @ mﬁuéb‘_r (c) S
(a) & Oy e
. 13. ‘78’ w1 wEEEE 3 9
N {a) S VUL
| 14. ‘SIS Il Y gETER @ oY 2- (€ ¥4
| (a) TR BTE o) e @ © T H
‘5-(“')@?@%#*.@@&@%’%%&%&%%? Y
.a S ) FETTEH (c) d -qw
! 16. 'WEM ® sfwy wHiow e g T @2 )
4 17. THEREHTE F A e A H g @2
: (@) 7 =T Wy s ¥ @ wd A
18. &= fagw <@ wA@ S &7 '
" | () 15 3T (b) 25 A 14 faawr (d) 25 v
! | | GLISH
19. The synonym of the word j f
{7 Intelligent ( (c) Funny ' udy Joyful H\
20. The antonym of the w " i
(c) Fearfl (d) Melancholy : '
r. It 2 all right now. 1
as repaired (c) was repaired (d) am repaired
X vivenreens the wishes of his master. - S
Ly with (c) in (d) towards: & 8

: o form of sentence "The boys were playing cricket". s
G kad Peen played by the boys. (b) Cricket has been played by the bo
yicot B played by the boys. \4d) Cricket was being played by th
. T wouldn't want to live anywhere e

sing many different countries ......... yw
but (c) or (d) so

F samssssssniIenEses



- - R abed is divisible by 11 if only s divisible
| | -d) o diviedble by 11 (& {iv‘) “Oﬂ . "n
X ,n.naa:)*r(h*“ g

h chusx

|' o (b)) 2x{dx+3) €} 95 s dx
33 Maximum interior pogle possible for a regular polygon s o0
Ay (a) 50° a by 607 ) 700 (diw |
" 34, The area of a trapezium shaped field is 480 o' the distance between [WE o , |

F one of the parallel side is 20 m. Find the other p sarallel side @
. (a) 20 m i M m () MAm ' : [
35. An aquarium is in the form of a cuboid whose externa al mossures are Sam * > gt

side face and back face are to be covered with a ¢ --='«-l"'-! paper. 1he e
required is
(a) 3200 cm’ b e

36. A rectangular piece of paper 11 cn=dom W 1 led without ove 6 "-“
4 cm. The volume of the cylinder so forms ...,
| (a) 9 cm’ b) 2
I 37. Express 47 as a power with ths
' (a) 2 b y 4
| : .
38. Simplify { 3 > : &

(a) 16 it -
. . 1 w0 (AT WOk *
39- [fﬂ'w weighl of 12 shewets of th N

B

=
~
g

i

e+

2% kilograms?

(a) 450
. A machinery worth Rs

: b) 4 € o (d) 8 b
¢ tossed simultaneously. What is the probability of getting one head and one talll

® % © % @ ¥% -
‘..1,3),(2.31.(-4 /3) and (8, 3) are joined together. then the resulting line W
(b) parallel to y-axis

'-mc (d) passing through the origin
B:C wﬁmcn |




9 b 3.4

Bgorean trivls (€ 1:2
¥ = 12 uasmilw Ilgn;:n;mhuhﬂh

. A ol R (c) 12, 36,

..hr' 4 { Mk.::?f&m%d '20‘0 bulbs for Rs, 10 each HOWWﬁ 5 bulbs
¢y thrown away. The remaining bulbs were sold at Rs. 12 h. Th =

iR y v ™ (c) 15%

1:1 “. Factorisation of ('2’.. h’i +2(2a-b)-8 would be m"
(@) (2a-b+4)(2a+b-2)
NS (2a-b+4)(2a-b-2)

\ 49. I Y7 -8 = -x, then value of v is
! a1 ®) - :

. (c) 5
N 50. If two medians of a triangle are ¢ ongruent, the triangle ' ,
(a) an equilateral triangle ’ ‘ .}.-'L: ,‘ 3 e i

(€) an obtuse angled triangle \_.T.i‘- . sealenr bt
51. Th point at which two co-ordinate axis meet is « .nI;-;-\i

Ordiﬂdl(’ (D) abscissa (c) i:;.h'|1'.l ’\j‘n/nﬂglﬂ

(b) (a-2b+2)(2a+b~4)
(d) (2a+b-4)2a-b+2)

a scalene triangle

92. In a triangle, centroid always divides n
wief 2:1 b) 3:1

B3 IF Jx—1-Jx+1+1=0, then 4x

(d) 5:1

1
(a) 1S (b) 4 i 5
54. ApitS5mlongand 351

: . ' Wi f the volume of earth taken out of it is 14 ',
what is the dt-}’ﬂ!'-. of th pit

! L] 80 cm (b) 81 . (d) 80 mm s
i 55. The difference between two wi The ratio of the two numbers is 2 ; 5. What are the 1,
[ i two numbers? X
: i (@) 22, 100 ( c) 44,100 a1 44, 110
%ht 56. Six pipes are required to inutes. How long will it take to fill the tank if only 5 ln
I pipes of the same type aft .

b}y 1 hour and 26 minutes

{a) 1 hour 16 minu

.‘J ~ ulef" 1 hour 36 minu (d) 2 hours 36 minutes a
57. Two times a n > | increase in the number. If we take half the number what would be the :

3 decrease in

: (a) 100% (b) 75% ey 50% (d) 25%

: , 58. The gadiucN two rational numbers is EhH] If one of them is 2}3 then the other number is

(7 b Y Y7 (@) Yo
at 32% off the list price and he wants to make a profit of 25% after allowing

Ppuys certain items .
gf 20%. At what per cent above the list price should he mark the items?

| % (b) 5.25% (c) 6.15% \AdT 6.25%
deposited in a bank Rs. 7500 for 6 months at the rate of 8% interest com

| he amount he received after 6 months.
‘ (b) Rs. 6803 (c) Rs, 7800 -

srator for Rs, 4000 on credit. The ;

will it cost him if he pays the amount after two years?
g 84 1 o i 0 P g e 00




(b) 4cm _
:gd the mean of the data given below are 2 5 5 7,4,2,3,8,8,
ikl (b)d 45 and 4.5 () 5.5 and 4.6 U 4.5 an .
ages eep and Asad are in the ratio 5 : 8. Fivi thi 7. After10vears, i
ages of Kuldeepand Asad will be e yeantego SiaioBAG ORI S

(a) 10 years, 14 years 15 Wl L,
; ‘ ars, 28 : (3 rs, 50 vears
65. In the following data, th£b Llodeyli B 2P years o) Miyears ubiyens ST AR

9,8,95,8,2,8,9,99,76,5,5,3,2,7,6,89

@5 9 . "
a) © 2 (d) 7 |
66. gl)stlal;c;:l;overed by a man walking for 12 minutes at a speed of 3.5 km per hour is !L
= (b) 0.07 km 0.7 km (d) 1.07k
'. ¢ e CTOPS are usually sown with the beginning of the first rains in July during 4R |
monsoon season.
(@) Rabi \Lbf'l(hanf (¢) Mansal (d) &

68. All living cells and many of the tiny organelles internal to cells are boun
These membranes are composed primarily of

phospholipids (b) amino acid (¢) gelatin d) clrbohydrates/ « -"

- The number of nuclei pre&,en[ n zygote is ) {

} (a) zero {bJ one (c) two d) three \

70. Insulin is a hormone produced by the .................. that allows yofg#ody}to Use sugar (glucose) from ;
carbohydrates in the food that you eat for energy or to stor : ture use.

' (a) liver (K] pancreas (c) kidn§y (d) brain %

g 71. The human skeleton is composed of around ................., at bi {

(a) 210 (b) 270 el (d) 370 !

ﬂ 72. Liquefied petroleum gas (LPG or LP gas) used in I s is a mixture of "f

: methane and ethane ypfme and butane . -"

ﬂ (c) methane and butane gane and butane

responsible for acid rain.
sulphur dioxide and nitrogen oxide
carbon monoxide and hydrogen peroxide

73. Non-metal oxides such as . and -
(a) sulphur oxide and hydrogen PO \
(C) carbon monoxide’ and nitrogen

.

(d)

; 74, .................. is a group of living sisting of similar individuals capable of exchanging s
5 enes or interbreeding.
% (ga) Family \,(Ei : (c) Genus (d) Order ot
F. T Ay are tiny parti that reduce visibility and cause the air to appear hazy when ‘;
> levels are elevated. {
~ (@) PM1.5 (c) PM3.5 (d) PM4.5 (
76. In eukaryotes, al ' 51de the cell membrane but outside the nucleus is the gel-like i
(a) xylem enzyme \.,{6 cytoplasm (d) phloem sap g
77. The small splF inside the nucleus is called : Yien
(a) mitocifl % (b) chromatin ~Ac] nucleolus (d) chromosome '
. Which gRhe ing is part of female reproductive system?
" (a) Jiegte Uterus (c) Scrotum (d) Prostate G
i L sound is greatest in 4
: - solld (b) liquid (c) gas (d) vacuum
Nf the following is the best conductor of electricity?
7 R (b) silver copper (d) palladium
the retina of the human eye function best in relatively bright light.
rod (c) sclera (d) uvea

18 nq:t extracted by electralysm? P
: (c) Sodium



. \_{) rabies
ﬂdPazr.tkr-is located in
e it ~ Madhya Prad.

following hormone is essential for th&e{gowth;anddwzg?mﬁm‘ 1to

trogen M Thyroxine (¢) Prolactin (dy r‘ - i \
| eeneneens 18 @ process by which nitrogen i ! : (d) Gtmm Wy T
or other molecules aVi‘lilZlblE to livinggorg;nn::‘rifarth ® atmasphiers is conyesled TR é_.l"' P

~um) Fermept'ation \Ab] Nitrogen fixation (c) Nitrosis fixation (d) Photosym .

87. Polyester is a category of polymers that is made up of repeating units of o 33? ot
(a) Ethane ()" Ester (c) Ethanol (d) Panteng

88. When we press the bulb of a dropper with its nozzle kept in distilled water, air in the /Rer is 3
to escape in the form of bubbles. Once we release the pressure on the bulb, distilled o W

the dropper. The rise in dropper is due to

2 e (a) gravity of the earth
Iy (b) special property of the rubber of the bulb and distilled water
w \_(ley atmospheric pressure (d) None of these
N 89. The image formed by a plane mirror is always
w (a) virtual, upright and of smaller shape and size as the object it jggsflecting.
nbranes. (b) real, upright, and of larger shape and size as the object it is @" iRe
34 Virtual, upright, and of same shape and size as the object it Yfreflegging

(d) real, upright, and of same shape and size as the obj 8
90. Which of the following has the highest calorific value ang may considered as the best fuel but is

o "\J highly inflammable and difficult to store and tran ?
se) from Methane b) Hydrogen (d) LPG i
25E) Y 8 : :
e ‘\ 91. The pressure produced when a force of 50 N is an area of 10 m? is eL 3
rh
L 1 N/m? (d) 5-;; N/m? ‘?};} b
& ~ .

93. Ball bearing are used to
(a) increase friction

94. When electrolysis of
- (a) oxygen gas only )
(d) oxygen gas er

95. A point at greun

(¢) keep friction constant (d) None of these

out, water is decomposed into
gen gas only Jef~ both hydrogen and oxygen

| @ 25 N/me ® 31 N/m?
\ 92. The pressure exerted by a fluid
3 | (a) decreases with depth v(b)/-increases with deptll-n ,
) .‘\! ." (c) does not change with dep (d) depends upon the liquid
o I
1
|

I« which an earthquake originates is called

(b) richter (c) fault
of three mirrors set at an angle @ ks

(d) volcano i
o to form multiple images of the

\ﬂﬁ' 45 degrees K 60 degrees (d) 90 degrees
owing is primarily used in preparation of smoke screens?
i l(Sb)p coppef (c) nitrogen \(df' phosphorus. L
quids at different depths is 1 e

-nt used to measure the pressure of 1i
meter / a manometer

; z £ b . |
s of _sound is determined by v(f) amplitude of vibrating body
vibrating body _ (d) No .
1 5 sircuit is defined as

(¢) ahygrometer (d) an anemo




-
B

o
N

1-b
11-b
21-a
31-d
41-b
51-d
61-b
71-b
81-a
91-c

Session

: 2018 - 2019
(@) product of volta
q.%b;" ratio of volta
¢) difference between vol

t
(d) None of these ﬂ

ge ﬁPplied to the electric current which flows through it af Wy
ge applied to the electric current which flows throu@'llt)' D 4
ge applied and electric current which flows i il ch Y

ANSWER SHEET _ D

3-b 4-d
13-b 14-b
23-d 24-b
33-b 34-b
43-a 44-a
53-d 54-a
63-d 64-d
73-b 74-b
83-b 84-c
93-b 94-c

%

5-b
15-b
25-a
35-d
45-d
55-d

6-a

16-a
26-

<
18z
47-d

PY 8-b 9-d
18i¢ 71 494
28-b 29-b
38-b 39-d
48-c = 49-a
58-c 59-d
68-a 69-c
78-b 79-a
88-c 89-c
98-b ohhe.
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(b) since

Jom {d) by

: ﬁ}ie'pmive form of the sentence " Ashley

‘wrote this novel."

(a) This novel has been written by Ashley.
\(b) This novel was written by Ashley.
(c) This novel had been written by Ashley.

~ (d) This novel was being written by Ashley.
21. He knew the story because he had read the

(a) after (b} before
A () ago (d) while
i 22, Please .............. the curtains.
- \4d) draw (b) stretch
l} ~ (¢) enlarge (d) unfasten
23. The doctor attended ............coooeeens the patient
very quietly.
(a) into (b) on
T to (d) upon
B e darkest cloud has .............. silver lining.
(@) A, the The, a
(c) The, the (d) A a
25. Which of the following is correctly spelt?
* Ya) Psychiatrist (b) Psyciatrist

(c) Pshychiatrist

26. Ifth git in one's place of a ny
its cube will end with the djey
(b)

(b) (n-2)x90°

30. If the parallel

31. Eight taps of the sameé size

32. Which of the following }
between the squares of two i
numbers?

e ———
TR

f the thombus is 4 cm find the le
other diagonal
(a) 18 cm
(¢) 15em

(d) 24 cm §
cides of a parallelogram are

2 cm apart and their sum is 10 cmy, then its am .

is
(a) 20 cm’
(c) 10 em?

(b) 05 cm’
(d) 15 cm’

fill a tank in 27 40
minutes. If two taps go out of order, h
would the remaining taps take to
(a) 30 minutes ) 25 mipke
(c) 36 minutes (d) 38 mi

41.

(a) Sum of the twon ber
(b) Difference of the

(c) Twice the gl of the
(d) Twice thefif er@ce between the two 42.

numbe

, (b) x=10
(c (d) x=0
rectangular piece of paper llemx4cm is
folded without overlapping to make a cylinder
of height 4 cm. Find the volume of the cylinder
(a) 28.5 cm’ (b) 48.5 cm® 44
(c) 38.0 em’ (d) 385 cm’
35. The present price of a scooter is Rs. 7290. If its
value decreases every year by 10%, then find
its value before 3 years y
(a) Rs. 11000 (b) Rs. 9975
(c) Rs. 9000 (d) Rs. 10000 .
36. The coordinates of a point lying on x- axis aré 4
(a) (0’0) (b) (O,y) w b ,
(©) (x,0) @ (xy)
37. If (-4)"*x(-4)" =(~4)", then the valueofm;ﬁ;jé
() 1 b) 2 g
(© -1 (d) 0 o
38. A dl_e is thrown once. The probability of getting
a prime number is >

@ 3

43

A e e



Wh of the followlng 18 correct?
ﬁa) x -y =Constant

(b) x+y=Constant

| & "
| . ~ (¢) xy=Constant (d) -£=Constant

~ by 18, the numbers are

| (a) 45 and 27 (b) 27 and 09
' (o) 40 and 12 (d) 18 and 40
41, For any natural numbers m greater than 1,

(a) (2m, 2m* -1, 2m? +1)
() (m,m*-2, m* +2)

S (c) (2m, m* -1, m® +2)
rs (d) (m* -1, 2m, m*+1)
the two 42, A shopkeeper bought a TV and DVD for Rs
=4 8000 each. He madeg a loos of 4% on the DVD
and a profit of 8% on the TV. Find the gain or
Loss percent on the whole transaction
(a) Loss of 02% (b) Gain of 04%
(¢) Gain of 02% (d) Loss of 04%
43, Factorization of x?—x would be
xdcm s @ x(x-=x*) ) x[(1
ghlf;:gg © x(x2-x) : {d) x =
4. Find the square root of
90. If its 17 1
ren find @) ZE 23
& 23 23 A
, {c) 4‘— 27
i the &r of sides of the regular P°1)’g°“
(b) 12
e (d) 13
gk 11 edrun has 20 faces and 12 vertices.
lihas?
" 16
- (d) 34
ollowing numbers is not a Hardy-
umbers?

(b) 2197

ct PI‘Opurtmn then

4. Two number are in the ratio 5:3. |f they differ

which of the following triplets is Pythagorean?

(c) 4104
48. What is the value of
(a) 4 :

e s

49. Two identical cubes eac:l"x' ]
6 cm® are joined end

to énd'

following is the total
s0 formed? " “‘”’
(@) 12 em?
(©) 10 cm?

50. By sellmg 33 books, a(s Op

(a) 20%
(c) 40%
3 0
51. What is ipmc’ad of _Z) ? -
@ -1 (b) 1
4
(§ 3 (@ 3

2 what number should (-20)" be djvidéa’sa
tha¥ the quotient is (5)"
v 4

1
(a) 1 (b) 4 (

1
(9 % ) -4

53. Two times a number is a 100% increase in the |1
number, If we take half the number what would
be the decrease in per cent?

|
1
() 75% j |

(a) 100%
(c) 50% () 25%
54. Find the compound interest which Sita will get \.~\
on Rs. 4096, if she gave it for 18 months at 'l
121% per annum, interest being compoi ,' 4
2 E
half-yearly L-49 4.2 "_.:_
(a) Rs. 800 (b) Rs. 817 . I
(c) Rs. 813 (d) Rs. 823

55. After 24 years Jerry would three times
as he was 4 years ago. €
(a) 28 years
(c) 18 years




W all the above

7. hich o the followin
flower e liee ;
(a) Stamen () (
_ nGey Pistil . n(d) Cfa]’j’*d -ﬂi
O red blood cells are forme: (
14 W cell does not possess 68. 1;11;”1:::9 ATTOW and are bEIieVEd-tﬁ 1 82. )
. _' (b) Onion cell average life span of approximately |
 green algae (d) Amoeba days. _
. nic Fauna species found in Pachmarhi (a) 60 \{? ;ig \
~ Biosphere Reserve are () 180 1(< L 35
- alaf Bison and Flying Squirrel 69. Safety device that works OfL 248 '
~(b) Rhinoceros and Wild Dog of electric current is ®
, Musk Deer and Wolf (a) capacitor
~ (d) Red Panda and Barking Deer ey~ fuse !'| 84'.
59. Metamorphosis in frog is controlled by 70. A real image is formeg W€ g
&) Thyroxine hormone (a) diverge nverge 1
(b) Estrogen hormone (c) appear to SQRVErge 1 85
{¢) Adrenaline hormone (d) none of t 0 (c ® i ll
(d) Insulin hormone 7 " Phurous acid is |
80. Which of the following is an example of algae? b) H,S !
(a) Yeast (b) Euglena s B
~e Spirogyra (d) Salmonella ¥y H,SO, g\
#1. The dark brown and viscous crude oil witha  72. o constellation is also called ! !
characteristic foul smell is known as (a) e Cross ) Great Bear &
~Jja) Petroleum (b) Kerosene e Plough (d) The Bull ®
(c) Diesel (d) Petrol e pitch of the sound primarily depends on 'U\
62. Zinc displaces “’P_’P“fm"' its aqueous s (a) Amplitude Ab]~ Frequency S
-ﬁ! this regard which of the following st ent (c) Wavelength (d) Speed ,_f |
is correct . : 74. The calorific value of hydrogen is about 4 \
| | ﬂ mr :;Gr;orr:a;eﬁa;:\; thé %2 lggg([}} t] / tg (b1 150000 K] /kg J
o = iy " {¢) Zinc and copper are eq 75 Sod: ]/bg i (q) e 3
G g : o s . ium metaqlsulphlte is usetfl a ;
E”"..a ﬁm tev (tion. i (a) for weed control (b) antibiotic agent
= ’: _m- ) (jaguar), \(p}ﬁood preservative (d) plant fertilizer ,
e ' -~ 76. &c; ::i :he following element is stored under

; ‘_‘.- h
Tl g

family ‘ e
' Y . §) eraer : \(ay potassium latinum
ers ol TR 1::'lohlec':|.|]ei;l e\;hxch are (c) phosphorus EE)) llithx R
S Ui 8 “:‘m ca 8 77. Which gas is rapidly produce
ger (b) Monosaccharides elemental aluminium reacts with

(d)_ Dimers hydroxide solution?
(a) oxygen
\Uei"hydrogen _

Fiot
"




 are formed mainly i
 believed to havg ;2
) 120

(d 240

irks on the heating effect

(b) filament
.'.':'(-d) inductance
ﬂWhen rays
"-"M' converge

hn'ous acid is
(b)) H,S

My H;SO,
jon is also called

(b) decantation
(d) condensat o1

T Afermentation
plimation

su 8
81. r(lfy)\e water hqlding capacity is the W in
(a) gandy 801.1 (b) clayey soil
1 oamy soil .
d) mixture of sand and loam
25,

82. A force has
() magnitude only

direction only 2
both magnitude and direction ¥

(d) none of these

83. For a normal eye, the near poijky
R (b) 50
(c) 75 cm (d

i g4. One light year is equal t
\(6749.4607 x 10" (b)g 94607 % 10" km

(c) 3.08x10% ) 3.08x10%km 30
85, The chemi al@ of baking soda is '

(a) Calg \onate
hrogen carbonate

o —— T Y —

R Bl U Yid 2 3-a 4b  5d
_ : @ 6~ 7-c 8-c 9-a 10-c
e . 11-d 12-c 13-a 14-c 15-d

S
— —

16-d 17-a 18-b 19-a 20-b
21-b 22-a 23-c 24-b 25-a

& 26-¢ 27-b 28-d 29-a 30-c k

: 31-c 32-a  33-a 3-d  35d
36-d 37.a  38-a 39.4  40-a
41-d 42-c 43-d 44-c  45-a
46-c 47-a 48-¢ 49-¢ 50

‘ 516  52c 83« ek
56-d 57-c 58-a
61-a - -
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5. ‘g’ W @A . :
(a) STHTRT (b) FFHFR (b nsg (b) A8 (a)
ey ST T (d) T HARoM) Azt el
6. ‘fam ¥ 93 H N H FH ?‘g.gtﬁJ;jﬁ;d I
) FH (b) F sl (b) 1z (a)
(c) WA (d o
7. ‘s’ v A W 2 s e P ()
\(of T WA e -q-ué’/d/cbulbljc,wds,gm -10
© e A OWEFE T wdW sl uMne gt iy (a)
oy « bt Pt uBz g S iU (b)

A | | | S P TE M I\l gilssz 3\
T AR e e
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get X-3yio
__ (b) —27
+3x o (D) 3x-27
ccessive discount of 20% an
single discount of
(b) 30%
(d) 28%

d 10% are

A family consumes 20 kg of -“_ da s
late the average energy consumpﬁonyof
._:igmxly per day, if calorific value of L.P.G. is

(b) 400 k] per day
(d) 400 ] per day

'\-Gb')”Mineral acid

(d) Edible acid

(b) Two
\(sY Four (d) Three
9, The atomic number is
) Number of protons
) Number of electrons
(¢) Number of neutrons
" (d) Sum of protons and neutrons
plastic which gets deformed gabily
‘heating and can be bent easily IATOTRQAs
Thermosetting plastic
Thermoplastics

: 1 (d) Aon these
on-stick coating on s isfhade from
“ i 0 ge number of
est ) sugar units
(d) ethene units
apn example of combustion
(b) spontaneous
(d) explosive
rts with acids to produce
(b) Oxygen 8as
er gas (d) Carbon gas .
‘the unit in which the calorific value ofa

\o@ﬂ Kilo Joules per kg

(c) Natural mbSBP '
(@) Bakelite: 1
Eag Solid e
c) Gases oL

e D“‘ingthe-pmcm_of
collected from the mammik
(a) Female Wild Shega

Female Finn D&
(d) Female Irish
70 The perc

of nitrogen in the at
®

(b) 76%
(d) 79%

pirogyra (d) Aspergillus
hich of the following is an example
viviparous animal? #
(a) Fish & Dog
\[&y" Pigeon (d) Frog .
73. Which one of the following is a special plastic
on which oil and water do not stick?
\(7) Teflon (b) Rayon 5
(c) Terylene
(d) Thermosetting plastic _ T4
. Longest cell found in the body of animals is
(a) Muscle cell by Nerve cell
(c) Bone cell (d) Egg cell o,
_ The device used to test whe&ler‘anohwﬁ is
carrying charge or not is lled |\ i Nelf
(a) Osmoscope )
(c) Stetinoscopeé ) K
~ The Jelly like substance prese
cell memberane and t
(a) Mitochondria
(c) Golgi body
: Splittin'g of white !

N




» of sound becomes thrice then
s by factor of

(b) 8 71-c
2] (d) 16 76-b
What cause a match stick to catch fire, when 81-a

au. ¥yl
rubbed on rough surface?
(a) Direction (b) Shape
e w[eJ Friction (d) Height
A 81, What would be the’path of the reflected ray if
fe) the incident ray falls normally on plane
- mirror? 57
aA4) Reflected ray follows the same path as the g

incident ray
(b) Making angle 45° with the normal to the

26. mt—16m° = m'(m*=16)
= m(m?-4) = m’ (m—4)(m+4)

:

(a) " mirror )
!c) k (c) Making angle 30° with the normal to the in AADC, DC? _AC
W mirror ’
b3 (d) Making angle 60° with the normal to the — DC*=144-
i mirror
‘(m) = @ A boy is standing at 20 m away from a plane . Area of ‘
: mirror. He starts running towards the mirror .
.:a) L with the speed of 5 m/s. The image of the boy But, O =DA-BC _Jgo L 6=aJESS & |
c) Hr appears to be running towards him with the : o :
Ny’ speed of Are DB =—x8x%(4V5-6) = V5 -6}
) (a) 4 m/s by "10 m/s 2 o
T (c) 25 m/s (d) 100 m/s : 7 of AABC =ar. of AADC —ar. of AADE
1 ) 83. Body 'A' with charge +29 is broughtmclo‘n a 4 ) il
g 5 with another identical uncharged body ) 7450 - 4(4-/5 -6) =41480 4/5 +6} g}q‘?",
f“ then removed. The charge on bodAB j ; :
) § i i (b) -29 Area of QABCLEXAth
i R
fafe (c) +2q (d) 4 ;
84. The S.I. unit of pressure is ot ar.of AABCx2 _ 24x2 _
%{a) Pascal (b ’ AC 12
(c) Joule

85. Rolling friction is §
(a) Sliding frictio
\(eY Both (a) andy

Yons
28. Mean of y and . is equal to

ZA=2C
. ZBCD
But, #BC
. ZBCQ
Now, /S]
But, /PQ
= 70% +-¢
. x=180

% A's 1 d
B can do
BIS 1 d

A and B's



